ES

oA B OAN E R

SR6FE4AA K B BE
[E 58 - ik FER#% g | TEEE Hidg FER#% g | TEEE ik FER#% i
g & i | X g & i | X g & i | H&

FARSUR HE7 INSTTA 1 1 1
FAILSUR 3 3 HForA-TYooR INJLINER
FENLNADry 1 1 1|YUET INLRFF
FIH=REY 15 15 15|91/ NUHY— 1 1
T5IEREESR TISLAR N7V 44 15 59 42
FILTIT CIF 1 1 1|RT1E—L 1 1 1
FILEUFY 1 1 2 HPAEGE! T4o— 1 1 1
FILN=T 1 1 1|1>a—o7 I1JEY 108) 344| 452| 245
TILAZT 1 1 U7 3 1 4 2[24250F
F7r3d3 SUAR—IL 4 2 6 2|19 -4
FUFAT T N—T—H SUnJT T2 29 27 56 30
TUrZ ALR IIVR 19 7 26 18
ATAY Ay T—Fv 3 1 4 21T AT 1 1 2 1
ARZI)L 1 1 2 2AR—HY TIExFT7Y
157 9 9 18 8|ARAY 6 7 13 3|TILAA
139 A)F L TN 1 1 1
A5y 3 2 5 4| R)SUH 114 33 147 124KE 95| 40 135 84
AR 40 15| 55 40|RO/NET AL 523 531| 1,054| 1,007
AVRERLT 224/ 134, 358 305|RANR=7F RFy 2 1 3 1
IHUE 1 1 12—z RRXIS 1 1 1
D954 F 2l 10 12 6| FEX=7 ~IL—>
DAREZREY 4 1 5 4 ERHIL 6 2 8 3(Ry—x
INTTA EILET 1 1 1[R)L— 4 8 12 10
HEE 42 3 45 25| LET-ELTFRY O NLE— 1 1 1
IOF7FRIL 1 1 1| oURRI7—H—ER R—3F 1 1 1
ISTh 7 4 11 3| EUREVEUR RR=F-~LYITEF
IRF=7F tUhLLT RYo+
IRXTT4= )7 RUET 2 2 2
IFAET VoEY 1 1 1[RILHIL
IYrY7 a4 24 72 96 50|Rr a5
ILYILAARIL = 30 52 82 45|7— vl
F—R3UT 20 6 26 15|40 F X5V IHHRAIL 1 1 2 1
F—RM)T7 BT 1 1 2 1\2o94 2 2 4 2
<= Fza <Y 2 2 1
*504 1 2 3 3| FvF <L
H—r 4 4 2|FRTIUA =7 16 11 27 25
H—RRILTF FE 677/ 885 1562 872(x/ORL7F 1 1 2 1
HAT7+ Faz=T7 A7 I)AhXNE 1 3 4 4
hYFITREY 4 7 11 o|ERsE 35 24 59 40|FER—5 £ FIE
HhE—IL FY Syyv— 74 143 217| 207
hrE 23 6 29 19['W/3L A¥Lo 3 3 1
ARy TUI—Y 2 2 21E—1UIrR
hAL—2 1 1 1|F14Y 7 6 13 10| E—Y4=7
gE 331| 403 734 415|h—3 2 2 1|EYVE—S 1 1 1
HUET F==%H 52
HURST 17 16 33 32|RE=HHEME ELTA4T
t=sE=7 R —R T 1 1 EILRA
*=7 RILOAZZRBY £0Ov3a 1 1 1
F=F7EY %= 14 10, 24 22[€vd)L 48 77 125 87
*Jox 2 TR0
Fa—N FA4YT 11 3 14 I ENZ 2
v par2l% AR 3 6 9 5
EIYS FIET 1 1 2 2[5FET
FILER 2 1 3 21=h397 UNT7=7 1 1 1
7T 1 1 2 —SI—L YE7 1 1 1
Hroz—hk Za—U—5UF 6 4 10 6|UETU LB Y
gLy /8= 459 115 574| 491|Y~y7
Ia7F7 I — 1 1 L—==7F 2 6 8 2
=7 3 2 5 2[\—L—> Moy I Y
a—rJART—)L 1 1 1nAF LIovE 1 1 1
aR%YA 2 2 4 3|/8F 24V 196/ 41| 237 144|L Yk
=E NFhY LNy
=E ] Avasd 1 1 11as7 67 78/ 145 73
aavE7 1 2 3 2{\RT7Y 1 1 1|REE 1 1
AVTHE INNT Z Dt 2 2
AVITREEME 2 2 2|\ T7=a—%=7 2 1 3 3 & 3,436 3,197 6,633| 4,626
YT TIET INSFH




